UTSATT oxtsaper [16100€  ~/NTErpnese Fes 2oz
: |
| |

ol ; 3
aj {{t [ 2[:) + 2[1 | +}‘/ﬁ) £o0 T_Q__

3
|

,rm 20) f*z('s)’*—Wo) 30
| N

\ |
. | i |
) fm 2,; -;m k3o 3 Hes] J’ v - £x t &
o IR
(283w for) REREN
! ! | ‘
-~ Fx" 3kt 20 L1
-(—8’)&“%0&) e
& x ¢32 i
| i
I '(-30 {
-(ﬁh——)-o |

) Nittpuitee  K{ /ﬁ) ! (10) (3,0) p
1% 65’/:0) 4| §

[t - ’z[x N=3)(x es) ;




OPVE. 2. S »
o) f{)c) =t 34 The"+ 3x

[l1- 155 n 43

xE R

1ol e

| ==
‘ k _‘/7 i]/ L‘Lﬂ‘fa_c
Ja

s *[«‘!)iﬁ%ﬁ‘%/&l

[
. f
\;.

2-10

(61 = (e =) -
i 'L- - 0 l + 4
! i
(] [ L R L] L LE L L
(y-1
———_— = ——— =

{4

o

)[/H votsne for | >k 7
flel  ats s 1< x (?ju

/7[4/&..4/ A- X = 3







3t (x-1) + x3/: TN VAT %

(] = -
5[/‘" ;(l-l)i

V-

4 gm ik ‘Km)

7(* )([}(f%)wt A 1{1 S f%(f_L,, L

_ ;xw %(

N ‘
C) h(xl = ’)-x +tm(3r)

skl 7 gan (%C L)




e 4250
0( S| TR
) el b anr
1I AL
a, - a, -k
- M1 1= 2 2 ner
EERN
N
' | & 2(1-295")




VK. 5. K(xl = o2.* ok + o

&) Crevsckostrecd = k(e = gey 4o

HX) g xtvbos <o

éﬁ&/féa;u&)tf";‘“ T < o) Lx t6o € %_o_—ﬂ
6) / y(dl‘" ’414"!&:" o’pt‘/num- E 6 rﬁnmérjw = éhk/f"o;“/

Eez) = | k)

e |
02n o+ K T gux ¢60  [x

i
|

I P ‘
Ox™ ¢ 60k 70 = QUi t 6%
019"*1‘10,‘(»6?' = —§o
' 1

i

ot woeo

|
//&SAJSZ/)AM : | A = o

i

Larely em%éam'ri“/ P £E(»a) = OLQ—[’.).D) Lo t ,;—E?'

| g{lo) s | &8

D) oo - Rt ANEES i

) - o e T T
=b.0/di 1=

‘Q;"/é«“’) = Joe- 6" | Zg’_ ==

Ehski | pote | [l 2




om.c.
0J A/n: ’C'[/“f)m

: i
Y2000 = 2000 ([ +qors)

! ﬂ b -
Lo = L

Nha 1ots = o (4

n_* 6%
0,024 | . L
b) [ = i~ | T |ojolL K= Sooas

|
n = -1 =41
|
Lo ©os ~ 0,062

[~(l,e0r) "

A -

= | Jo18 S|

|

}(: #l QL_[/-M)"") 25/4 Jab = /) famdia e
| | J| l/" Som fo

- L. /093 §
oes sl -lra0)") /L 1

O, 00
!

/Ci =

K= RITI Y




o2
flag) - 40— {gte dtyte

) I[K X +'2y /;Z: Qzﬂ-tl 1[” i

Xj"‘-t ly <o "v?l‘ 2? =0
\
K=o | ¢.=2
Xty =o E j :
X == @/“") P |
4ot §
| |

§A:s,m.e /owlvi [04 0) [0;,'1) /:‘QLO) ['lt'l)

poper A B C A ke
(i fuy 99
(0.0) 2 }0 -1 | ~4 Saded
. ]
| »
(o) . 0 1 L M
f
¢



